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A. BigBRIUMAIAG{UIAS = 1,000,000
B. mnifitwy = 90% x 1,000,000 x 30% = 270,000
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A. igruRhmAiA{Uine 2,234,843
B. yUMSARMANTAIYUIEY = 2,234,843 + (1+10%)
C. mnnmniguigy 2,031,675 x 10%
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Cyumshnmniumibfionmion: = 2,031,675 + (143%) = 1,972,500
mar[molionmion: = 1,972,500 x 3% = 59,175
gumshnmamiun = 90%x{1,972,500 + [1+(35%x 90%)]} = 1,350,000
QRN = 1,350,000 x 35% = 472,500
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mar[nUiEaman: - = 1,225,000 x 3% = 36,750
YIUNBAAMAMIUN = 90%x {1,225,000 + [1+(25%x 90%)]} = 900,000
M = 900,000 x 25% = 225,000
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A. titgjuSihmniatuing = 1,199,000
B. yrumshnmnanliaiguigy = 1,199,000 + (1+10%) = 1,090,000
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D. yrumshnmafiiue = 90% x {1,090,000 + [1+(10%x 90%)]}= 900,000
E. mnifitun = 900,000 x 10% = 90,000
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